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F [ B RE | efE |, | BHER | BEEE | L., | KRR | eBEE 2% | TR | 56 | Gb
B A g | a0 | #n | TR w0 | e | PR s | oaw | aa | owe | e | 84
1 AR R 9 9 9 0 9 100% 100% 100% 100% 0 100 0 100 1
2 LENY] 1 1 1 0 1 100% 100% 100% 100% 0 100 0 100 1
3 HWALR 355 | 344 | 337 13 340 95771% | 9690% | 9622% | 9493% | 042 | 9621 0 921 | 2
4 TEER S ERZE 808 | 785 | 746 39 745 9220% | 9715% | 9503% | 9233% | 094 | 9438 0 9438 | 3
5 WREA 10 9 9 0 9 9000% | 90.00% | 100% | 90.00% 0 25 0 25 | 4
6 LR 242 | 218 | 215 3 217 8967% | 9008% | 98.62% | 8884% | 027 | 9201 0 201 | 5
7 T E R 31 | 31 31 1 19 6129% | 100% | 96.77% | 100% 0 83.71 0 8371 | 6
8 HRER 4 4 4 0 2 5000% | 100% 100% 100% 0 80 0 80 7
9 W EAR 186 | 149 | 145 7 121 6505% | 8011% | 9530% | 7796% | 018 | 7753 0 7153 | 8
10 WENREZS 26 | 18 14 4 5 1923% | 6923% | 77.78% | 5385% 0 4752 0 475 | 9
11 WA B 1 1 0 1 0 0.00% 100% 000% | 0.00% 0 10 0 10 10
1) ABR=LBHNAEHx100%; HEEZ=LME ZH N A EHx100%; BRI HE=RTH+LEHx100% ; —KRTEMAFE=1-RITFE,
GG F R =E M R R A E Hx100%;
2) Mitnsr: (BRBEMEBEZH-NABHNT WA LB L MAREZEH) <2, NABHRML WL W2 (BREZ IR ST ELW S
BRE. ARRE) ARTg, ETEZEELE RIS

3) ZG /=B Ex10 HZ 1 5 R T x40+ K 5T M E X5+ G T F Q5+ s

4) ZEBI=ZRGEES - FTRME 0

5) BECWITHEGRB=FFHTEER+TE = B2 £ 43k

6) ZAHIEHF R E 20 & K.




